Iranian Journal of Mathematical Sciences and Informatics Vol. 18, No. 2 (2023), pp 1-10 DOI: 10.52547/ijmsi.18.2.1

# On Hybrid Ideals and Hybrid Bi-ideals in Semigroups

Balasubramanian Elavarasan<sup>a\*</sup>, Young Bae Jun<sup>b</sup>

<sup>a</sup>Department of Mathematics, Karunya Institute of Technology and Sciences, Coimbatore - 641 114, India <sup>b</sup>Department of Mathematics Education, Gyeongsang National University, Jinju 52828, Korea

> E-mail: belavarasan@gmail.com E-mail: skywine@gmail.com

ABSTRACT. In this paper, we introduce the notion of hybrid bi-ideals in semigroups and investigate some of their important properties. We also give various equivalent conditions for a semigroup to be regular and hybrid structures to be hybrid bi-ideals of S.

**Keywords:** Hybrid structure, Hybrid ideal, Semigroup, Ideals, Hybrid product.

## 2000 Mathematics subject classification: 20M12, 20M17, 16Y60.

## 1. INTRODUCTION

Let S be a semigroup. Let A and B be subsets of S. Then the multiplication of A and B is defined as  $AB = \{ab : a \in A \text{ and } b \in B\}$ . Let A be a non-empty subset of S. A is called a subsemigroup of S if  $S^2 \subseteq S$ . A subsemigroup X of S is called a left (resp., right) ideal of S if  $SX \subseteq X(resp., XS \subseteq X)$ . If X is both a left and right ideal of S, then X is called a two-sided ideal or ideal of S. It can easily be verified that for any  $a \in S$ ,  $L(a) = \{a, Sa\}$  (resp.,  $R(a) = \{a, aS\}$ ) is a left (resp., right) ideal of S generated by a in S. A subsemigroup A of a semigroup S is called a bi-ideal of S if  $ASA \subseteq A$ . It is clear that for any

<sup>\*</sup>Corresponding Author

Received 24 March 2019; Accepted 12 April 2021 ©2023 Academic Center for Education, Culture and Research TMU

 $a \in S$ ,  $B(a) = \{a, a^2, aSa\}$  is a bi-ideal of S generated by an element  $a \in S$ . A semigroup S is called left (resp., right) duo if every left (resp., right) ideal of S is an ideal of S. A semigroup S is called duo if it is both left and right duo. A semigroup S is called regular if for each  $a \in S$ , there exists an element x in S such that a = axa.

In his classic paper [10], Zadeh introduced the notion of a fuzzy subset A of a set X as a mapping from X into [0, 1]. Rosenfeld [9] and Kuroki [6] applied this concept in group theory and semigroup theory. Since then, several authors have been pursued the study of fuzzy algebraic structure in many directions such as groups, rings, modules, vector spaces and so on (See[5, 6, 7]). As a new mathematical tool for dealing with uncertainties, Molodtsov [8] introduced the soft set theory. In the past few years, the fundamentals of soft set theory have been studied by various researchers (See [1, 3, 4]). In 2017, Anis et al.[2] introduced the notions of hybrid sub-semigroups and hybrid left(resp., right) ideals in semigroups and obtained several properties.

In this paper, we introduce and discuss some properties of hybrid bi-ideal of a semigroup, which is an extension of the concept of a hybrid sub-semigroup of S, and characterize regular semigroups, and both intra-regular and left quasiregular semigroups in terms of hybrid bi-ideals.

## 2. Hybrid structures in semigroups

In this section, we present some elementary definitions of hybrid structures in semigroup that we will use later in this paper.

**Definition 2.1.** [2] Let I be the unit interval and  $\mathscr{P}(U)$  denote the power set of an initial universal set U. A hybrid structure in S over U is defined to be a mapping  $\tilde{f}_{\lambda} := (\tilde{f}, \lambda) : S \to \mathscr{P}(U) \times I$ ,  $x \mapsto (\tilde{f}(x), \lambda(x))$ , where  $\tilde{f} : S \to \mathscr{P}(U)$ and  $\lambda : S \to I$  are mappings.

Let us denote by H(S) the set of all hybrid structures in S over U. We define an order  $\ll$  in H(S) as follows : For all  $\tilde{f}_{\lambda}, \tilde{g}_{\gamma} \in H(S), \quad \tilde{f}_{\lambda} \ll \tilde{g}_{\gamma}$  if and only if  $\tilde{f} \subseteq \tilde{g}, \lambda \succeq \gamma$ , where  $\tilde{f} \subseteq \tilde{g}$  means that  $\tilde{f}(x) \subseteq \tilde{g}(x)$  and  $\lambda \succeq \gamma$  means that  $\lambda(x) \ge \gamma(x)$  for all  $x \in S$ . Note that  $(H(S), \ll)$  is a poset.

**Definition 2.2.** [2] Let S be a semigroup. A hybrid structure  $\tilde{f}_{\lambda}$  in S is called a hybrid subsemigroup of S over U if  $\tilde{f}(xy) \supseteq \tilde{f}(x) \cap \tilde{f}(y)$  and  $\lambda(xy) \leq \bigvee \{\lambda(x), \lambda(y)\}$  for all  $x, y \in S$ .

**Definition 2.3.** [2] Let S be a semigroup. A hybrid structure  $\tilde{f}_{\lambda}$  in S over U is called a hybrid left (resp., right) ideal of S over U if

(i)  $\tilde{f}(xy) \supseteq \tilde{f}(y)$  (resp.,  $\tilde{f}(xy) \supseteq \tilde{f}(x)$ ),

(ii)  $\lambda(xy) \leq \lambda(y)(res., \lambda(xy) \leq \lambda(x))$  for all  $x, y \in S$ .

 $f_{\lambda}$  is called a hybrid ideal of S if it is both a hybrid left and a hybrid right ideal of S over U.

**Definition 2.4.** A semigroup S is called a hybrid left (resp., right) duo over U if every hybrid left (resp., right) ideal of S over U is a hybrid ideal of S over U. A semigroup S is called a hybrid duo over U if it is both a hybrid left and a hybrid right duo over U.

**Definition 2.5.** Let S be a semigroup. A hybrid subsemigroup  $\tilde{f}_{\lambda}$  in S over U is called a hybrid bi-ideal of S over U if

- (i)  $\tilde{f}(xyz) \supseteq \tilde{f}(x) \cap \tilde{f}(z)$ ,
- (ii)  $\lambda(xyz) \leq \bigvee \{\lambda(x), \lambda(z)\}$  for all  $x, y, z \in S$ .

Clearly, every hybrid left and hybrid right ideals of S over U are hybrid bi-deals of S over U, however, hybrid bi-deals of S over U need not be either hybrid left or hybrid right ideals of S over U as can be seen by the following example.

EXAMPLE 2.6. Let  $S = \{0, a, b, c\}$  be a semigroup with the following Cayley table:

	0	a	b	c
0	0	0	0	0
a	0	0	0	b
b	0	0	0	b
c	b	b	b	с
TABLE 1				

Let  $\tilde{f}_{\lambda}$  be a hybrid structure in S over U = [0, 1] defined by f(0) = [0, 0.6]; f(a) = [0, 0.5]; f(b) = [0, 0.4]; f(c) = [0, 0.2] and  $\lambda$  be any constant mapping form S to I. Then  $\tilde{f}_{\lambda}$  is a hybrid bi-ideal of S over U, which is neither a hybrid left nor a hybrid right ideal of S over U as  $f(ca) \not\supseteq f(a)$  and  $f(ac) \not\supseteq f(a)$ .  $\Box$ 

**Definition 2.7.** [2] Let A be a non-empty subset of S. Then the characteristic hybrid structure in S over U is denoted by  $\chi_A(\tilde{f}_\lambda) = (\chi_A(\tilde{f}), \chi_A(\lambda))$ , where

$$\chi_A(\tilde{f}): S \to \mathscr{P}(U), x \mapsto \begin{cases} U & if \ x \in A \\ \phi & otherwise \end{cases}$$

and

$$\chi_A(\lambda): S \to I, x \mapsto \begin{cases} 0 & if x \in A \\ 1 & otherwise. \end{cases}$$

## 3. Main results

**Theorem 3.1.** Let A be a non-empty subset of S. Then A is a subsemigroup of S if and only if the characteristic hybrid structure  $\chi_A(\tilde{f}_{\lambda})$  is a hybrid subsemigroup of S.

*Proof.* Assume that A is a subsemigroup of S and  $x, y \in S$ .

If  $xy \in A$ , then  $\chi_A(\tilde{f})(xy) = U \supseteq \chi_A(\tilde{f})(x) \cap \chi_A(\tilde{f})(y)$  and  $\chi_A(\lambda)(xy) = 0 \le \bigvee \{\chi_A(\lambda)(x), \chi_A(\lambda)(y)\}$ . If  $xy \notin A$ , then either  $x \notin A$  or  $y \notin A$ , so  $\chi_A(\tilde{f})(xy) = \phi = \chi_A(\tilde{f})(x) \cap \chi_A(\tilde{f})(y)$  and  $\chi_A(\lambda)(xy) = 1 = \bigvee \{\chi_A(\lambda)(x), \chi_A(\lambda)(y)\}$ . Therefore  $\chi_A(\tilde{f}_\lambda)$  is a hybrid subsemigroup of S.

Conversely, assume that  $\chi_A(\tilde{f}_\lambda)$  is a hybrid subsemigroup of S. Let  $x, y \in A$ . Then  $\chi_A(\tilde{f})(xy) \supseteq \chi_A(\tilde{f})(x) = U$  implies  $xy \in A$ . So A is a subsemigroup of S.

**Theorem 3.2.** Let A be a non-empty subset of S. Then A is a bi-ideal of S if and only if the characteristic hybrid structure  $\chi_A(\tilde{f}_{\lambda})$  is a hybrid bi-ideal of S.

Proof. Assume that A is a bi-ideal of S. Let  $x, y, z \in S$ . If  $x \in A$  and  $z \in A$ , then  $xyz \in A$ , so  $\chi_A(\tilde{f})(xyz) = U = \chi_A(\tilde{f})(x) \cap \chi_A(\tilde{f})(z)$  and  $\chi_A(\lambda)(xyz) = 0 = \bigvee \{\chi_A(\lambda)(x), \chi_A(\lambda)(z)\}$ . If  $x \notin A$  or  $z \notin A$ , then  $\chi_A(\tilde{f})(x) \cap \chi_A(\tilde{f})(z) = \phi \subseteq \chi_A(\tilde{f})(xyz)$  and  $\bigvee \{\chi_A(\lambda)(x), \chi_A(\lambda)(z)\} = 1 \ge \chi_A(\lambda)(xyz)$ . By Theorem 3.1,  $\chi_A(\tilde{f}_\lambda)$  is a hybrid bi-ideal of S.

Conversely, assume that  $\chi_A(\tilde{f}_\lambda)$  is a hybrid bi-ideal of S. Let  $x, z \in A$  and  $y \in S$ . Then  $\chi_A(\tilde{f})(xyz) \supseteq \chi_A(\tilde{f})(x) \cap \chi_A(\tilde{f})(z) = \phi$  which implies  $xyz \in A$ . By Theorem 3.1, A is a bi-ideal of S.

**Theorem 3.3.** Let S be a regular semigroup. Then the following conditions are equivalent:

(i) S is left (resp., right) duo,

(ii) S is hybrid left (resp., right) duo.

*Proof.* Assume that S is left duo. Then for any  $a, b \in S$ , we have  $ab \in (aSa)b \subseteq (Sa)S \subseteq Sa$  as Sa is a left ideal of S and S is regular, so there exists  $x \in S$  such that ab = xa. Let  $\tilde{f}_{\lambda}$  be any hybrid left ideal of S. Then  $\tilde{f}(ab) = \tilde{f}(xa) \supseteq \tilde{f}(a)$  and  $\lambda(ab) = \lambda(xa) \leq \lambda(a)$ . Thus  $\tilde{f}_{\lambda}$  is a hybrid right ideal of S and hence S is hybrid left duo.

Conversely, assume that S is hybrid left duo and let A be any left ideal of S. Then by Theorem 3.5 of [2], the characteristic hybrid structure  $\chi_A(\tilde{f}_\lambda)$  is a hybrid left ideal of S. Since S is hybrid left duo, we have  $\chi_A(\tilde{f}_\lambda)$  is a hybrid ideal of S. By Corollary 3.6 of [2], we have A is an ideal of S. Therefore S is left duo.

As a consequence of above theorem, we have the following corollary.

**Corollary 3.4.** Let S be a regular semigroup. Then the following conditions are equivalent:

(i) S is duo,

(ii) S is hybrid duo.

**Theorem 3.5.** Let S be a regular left duo (resp., right duo, duo) semigroup. Then the following conditions are equivalent:

(i)  $f_{\lambda}$  is a hybrid bi-ideal of S,

(ii)  $f_{\lambda}$  is a hybrid right ideal (resp., left, ideal) of S.

Proof. (i)  $\Rightarrow$  (ii) Assume that  $\tilde{f}_{\lambda}$  is a hybrid bi-ideal of S. Let  $x, y \in S$ . Since S is regular, we have  $x = xtx \in xS \cap Sx$  for some  $t \in S$  which implies  $xy \in (xS \cap Sx)S \subseteq xS \cap Sx$  as S is left duo. So xy = sx and xy = xs' for some  $s, s' \in S$ . By the regularity of S, there exists  $r \in S$  with xy = xyrxy = xs'rsx = x(s'rs)x. Since  $\tilde{f}_{\lambda}$  is a hybrid bi-ideal of S, we have  $\tilde{f}(xy) = \tilde{f}(x(s'rs)x) \supseteq \tilde{f}(x)$  and  $\lambda(xy) = \lambda(x(s'rs)x) \le \lambda(x)$ . Therefore  $\tilde{f}_{\lambda}$  is a hybrid right ideal of S. (ii)  $\Rightarrow$  (i) It is trivial.

**Theorem 3.6.** Let S be a regular semigroup. Then the following conditions are equivalent:

(i) Every bi-ideal of S is a right ideal (resp., left ideal, ideal) of S.

(ii) Every hybrid bi-ideal of S is a hybrid right ideal (resp., left ideal, ideal) of S.

*Proof.*  $(i) \Rightarrow (ii)$  Assume that (i) holds. Let  $\tilde{f}_{\lambda}$  be a hybrid bi-ideal of S and  $a, b \in S$ . Then aSa is a right ideal of S and  $a \in aSa$  as S is regular. so  $ab \in aSa$  implies ab = asa for some  $s \in S$ . So  $\tilde{f}(ab) = \tilde{f}(asa) \supseteq \tilde{f}(a)$  and  $\lambda(ab) = \lambda(asa) \leq \lambda(a)$ . Therefore  $\tilde{f}_{\lambda}$  is a hybrid right ideal of S.

 $(ii) \Rightarrow (i)$  Assume that (ii) holds and let A be any bi-ideal of S. Then by Theorem 3.2,  $\chi_A(\tilde{f}_{\lambda})$  is a hybrid bi-ideal of S, by assumption it becomes a hybrid right ideal of S. By Theorem 3.5 of [2], A is a right ideal of S.

**Definition 3.7.** [2] For any hybrid structures  $\tilde{f}_{\lambda}$  and  $\tilde{g}_{\gamma}$  in S over U, the hybrid product of  $\tilde{f}_{\lambda}$  and  $\tilde{g}_{\gamma}$  in S is defined to be a hybrid structure  $\tilde{f}_{\lambda} \odot \tilde{g}_{\gamma} = (\tilde{f} \circ \tilde{g}, \lambda \circ \gamma)$  in S over U, where

$$(\tilde{f} \circ \tilde{g})(x) = \begin{cases} \bigcup_{x=yz} \{\tilde{f}(y) \cap \tilde{g}(z)\} & \text{if } \exists \ y, z \in S \text{ such that } \mathbf{x}=\mathbf{yz} \\ \phi & \text{otherwise} \end{cases}$$

and

$$(\lambda \tilde{\circ} \gamma)(x) = \begin{cases} \bigwedge_{x=yz} \bigvee \{\lambda(y), \lambda(z)\} & if \exists y, z \in S \text{ such that } x = yz \\ 1 & otherwise \end{cases}$$

for all  $x \in S$ .

**Theorem 3.8.** Let  $\tilde{f}_{\lambda}$  be a hybrid structure of S. Then the following conditions are equivalent:

(i)  $\tilde{f}_{\lambda}$  is a hybrid bi-ideal of S, (ii)  $\tilde{f}_{\lambda} \odot \tilde{f}_{\lambda} \ll \tilde{f}_{\lambda}$  and  $\tilde{f}_{\lambda} \odot \chi_{S}(\tilde{g}_{\mu}) \odot \tilde{f}_{\lambda} \ll \tilde{f}_{\lambda}$  for any hybrid structure  $\tilde{g}_{\mu}$  of S.

*Proof.*  $(i) \Rightarrow (ii)$  Assume that  $\tilde{f}_{\lambda}$  is a hybrid bi-ideal of S and  $x \in S$ . If  $x \neq yz$  for all  $y, z \in S$ , then clearly  $\tilde{f}_{\lambda} \odot \tilde{f}_{\lambda} \ll \tilde{f}_{\lambda}$  and  $\tilde{f}_{\lambda} \odot \chi_S(\tilde{g}_{\mu}) \odot \tilde{f}_{\lambda} \ll \tilde{f}_{\lambda}$ . Assume that x = yz for some  $y, z \in S$ . Then  $(\tilde{f} \circ \tilde{f})(x) = \bigcup_{x=yz} \{\tilde{f}(y) \cap \tilde{f}(z)\} \subseteq \bigcup_{x=yz} \tilde{f}(yz) = \tilde{f}(x)$  and  $(\lambda \circ \lambda)(x) = \bigwedge_{x=yz} \bigvee \{\lambda(y), \lambda(z)\} \ge \bigwedge_{x=yz} \lambda(yz) = \lambda(x).$ 

Therefore  $\tilde{f}_{\lambda} \odot \tilde{f}_{\lambda} \ll \tilde{f}_{\lambda}$ .

We now prove that  $\tilde{f}_{\lambda} \odot \chi_S(\tilde{g}_{\mu}) \odot \tilde{f}_{\lambda} \ll \tilde{f}_{\lambda}$ .

Let  $a \in S$ . Suppose that there exist  $x, y, p, q \in S$  such that a = xy and x = pq. Then

$$\begin{split} (\tilde{f} \tilde{\circ} \chi_{S}(\tilde{g}) \tilde{\circ} \tilde{f})(a) &= \bigcup_{a=xy} \left\{ (\tilde{f} \tilde{\circ} \chi_{S}(\tilde{g}))(x) \cap \tilde{f}(y) \right\} \\ &= \bigcup_{a=xy} \left\{ \bigcup_{x=pq} \{\tilde{f}(p) \cap \chi_{S}(\tilde{g})(q) \} \cap \tilde{f}(y) \} \\ &= \bigcup_{a=xy} \{\tilde{f}(p) \cap \tilde{f}(y) \} \\ &= \bigcup_{a=pqy} \{\tilde{f}(pqy) = \tilde{f}(a), \\ \text{and} \quad (\lambda \tilde{\circ} \chi_{S}(\mu) \tilde{\circ} \lambda)(a) &= \bigwedge_{a=xy} \bigvee \{ (\lambda \tilde{\circ} \chi_{S}(\mu))(x), \lambda(y) \} \\ &= \bigwedge_{a=xy} \bigvee \{ \bigwedge_{x=pq} \bigvee \{ (\lambda(p), \chi_{S}(\mu)(q) \}, \lambda(y) \} \\ &= \bigwedge_{a=xy} \bigvee \{ (\lambda(p), \lambda(y) \} \\ &= \bigwedge_{a=pqy} \bigvee \{ (\lambda(p), \lambda(y) \} \\ &= \bigwedge_{a=pqy} \bigwedge \{ (pqy) = \lambda(a). \end{split}$$

Otherwise  $a \neq xy$  or  $x \neq pq$  for all  $x, y, p, q \in S$ . Then  $(\tilde{f} \circ \chi_S(\tilde{g}) \circ \tilde{f})(a) =$  $\phi \subseteq \lambda(a)$  and  $(\lambda \tilde{\circ} \chi_S(\mu) \tilde{\circ} \lambda)(a) = 1 \ge \lambda(a)$ .

Therefore  $f_{\lambda} \odot \chi_S(\tilde{g}_{\mu}) \odot f_{\lambda} \ll f_{\lambda}$ .

 $(ii) \Rightarrow (i)$  Assume that (ii) holds and  $x, y \in S$ . Then  $\tilde{f}(xy) \supseteq (\tilde{f} \circ \tilde{f})(xy) \supseteq$  $\tilde{f}(x) \cup \tilde{f}(y)$  and  $\lambda(xy) \leq (\lambda \tilde{\circ} \lambda)(xy) \leq \bigvee \{\lambda(x), \lambda(y)\}$ . So  $\tilde{f}_{\lambda}$  is a hybrid subsemigoup of S.

Now, let  $x, y, z \in S$ . Then  $\tilde{f}(xyz) \supseteq (\tilde{f} \circ \chi_S(\mu) \circ \tilde{f})(xyz)$ 

$$\supseteq (f \tilde{\circ} \chi_S(\mu))(xy) \cap f(z) \supseteq (\tilde{f}(x) \cap \chi_S(\mu)(y)) \cap \tilde{f}(z) = (\tilde{f}(x) \cap U) \cap \tilde{f}(z) = \tilde{f}(x) \cap \tilde{f}(z),$$

and

$$\begin{split} \lambda(xyz) &\leq (\lambda \tilde{\circ} \chi_S(\mu) \tilde{\circ} \lambda)(xyz) \\ &\leq \bigvee \{\lambda \tilde{\circ} \chi_S(\mu))(xy), \lambda(z)\} \\ &\leq \bigvee \{\bigvee \{\lambda(x), \chi_S(\mu)(y)\}, \lambda(z)\} \\ &= \bigvee \{\bigvee \{\lambda(x), 0\}, \lambda(z)\} \\ &= \bigvee \{\lambda(x), \lambda(z)\}. \end{split}$$

Therefore  $\tilde{f}_{\lambda}$  is a hybrid bi-ideal of S.

**Definition 3.9.** [2] Let  $\tilde{f}_{\lambda}$  and  $\tilde{g}_{\gamma}$  be hybrid structures in S over U. Then the hybrid intersection of  $\tilde{f}_{\lambda}$  and  $\tilde{g}_{\gamma}$  is denoted by  $\tilde{f}_{\lambda} \cap \tilde{g}_{\gamma}$  and is defined to be a hybrid structure  $\tilde{f}_{\lambda} \cap \tilde{g}_{\gamma} : S \to \mathscr{P}(U) \times I, x \mapsto ((\tilde{f} \cap \tilde{g})(x), (\lambda \vee \gamma)(x))$ , where  $\tilde{f} \cap \tilde{g} : S \to \mathscr{P}(U), x \mapsto \tilde{f}(x) \cap \tilde{g}(x)$  and  $\lambda \vee \gamma : S \to I, x \mapsto \bigvee \{\lambda(x), \gamma(x)\}$ .

**Theorem 3.10.** Let S be a semigroup. Then the following conditions are equivalent:

(i) S is regular,

(ii)  $\tilde{f}_{\mu} \cap \tilde{g}_{\lambda} = \tilde{f}_{\mu} \odot \tilde{g}_{\lambda} \odot \tilde{f}_{\mu}$  for every hybrid bi-ideal  $\tilde{f}_{\mu}$  and every hybrid ideal  $\tilde{g}_{\lambda}$  of S.

Proof.  $(i) \Rightarrow (ii)$  Assume that S is regular, and let  $\tilde{f}_{\mu}$  be a hybrid bi-ideal and  $\tilde{g}_{\lambda}$  a hybrid ideal of S. Then by Theorem 3.8, we have  $\tilde{f}_{\mu} \odot \chi_S(\tilde{g}_{\lambda}) \odot \tilde{f}_{\mu} \ll \tilde{f}_{\lambda}$ . So  $\tilde{f}_{\mu} \odot \tilde{g}_{\lambda} \odot \tilde{f}_{\mu} \ll \tilde{f}_{\mu} \odot \chi_S(\tilde{g}_{\lambda}) \odot \tilde{f}_{\mu} \ll \tilde{f}_{\lambda}$ . By Theorem 3.13 and Theorem 3.14 of [2], we have  $\tilde{f}_{\mu} \odot \tilde{g}_{\lambda} \odot \tilde{f}_{\mu} \ll \chi_S(\tilde{f}_{\mu}) \odot \tilde{g}_{\lambda} \odot \chi_S(\tilde{f}_{\mu}) \ll \tilde{g}_{\lambda}$ . So  $\tilde{f}_{\mu} \odot \tilde{g}_{\lambda} \odot \tilde{f}_{\mu} \ll \tilde{f}_{\mu} \cap \tilde{g}_{\lambda}$ . Let  $a \in S$ . Then by the reqularity of S, there exists  $x \in S$  such that a =

axa = axaxa.

Now 
$$(\tilde{f} \circ \tilde{g} \circ \tilde{f})(a) = \bigcup_{\substack{a=uv\\ i \in \tilde{f}(a) \cap (\tilde{g} \circ \tilde{f})(xaxa)\\ i \in \tilde{f}(a) \cap \tilde{g}(xax) \cap \tilde{f}(a)\\ i \in \tilde{f}(a) \cap \tilde{g}(a) = (\tilde{f} \cap \tilde{g})(a),$$
  
and  $(\mu \circ \lambda \circ \mu)(a) = \bigwedge_{\substack{a=uv\\ i \in \tilde{f}(a) \cap \tilde{g}(a)} \bigvee \{\mu(u), (\lambda \circ \mu)(v)\}$   
 $\leq \bigvee \{\mu(a), (\lambda \circ \mu)(xaxa)\}$   
 $\leq \bigvee \{\mu(a), \bigvee \{\lambda(xax), \mu(a)\}\}$   
 $\leq \bigvee \{\mu(a), \lambda(a)\} = (\lambda \cap \mu)(a).$ 

Thus  $\tilde{f}_{\mu} \cap \tilde{g}_{\lambda} \ll \tilde{f}_{\mu} \odot \tilde{g}_{\lambda} \odot \tilde{f}_{\mu}$  and hence  $\tilde{f}_{\mu} \cap \tilde{g}_{\lambda} = \tilde{f}_{\mu} \odot \tilde{g}_{\lambda} \odot \tilde{f}_{\mu}$ .

 $(ii) \Rightarrow (i)$  Assume that (ii) holds. Then by Corollary 3.6 of [2] and assumption, we have  $\tilde{f}_{\mu} \cap \chi_S(\tilde{f}_{\mu}) = \tilde{f}_{\mu} \odot \chi_S(\tilde{f}_{\mu}) \odot \tilde{f}_{\mu}$ . But  $\tilde{f}_{\mu} \cap \chi_S(\tilde{f}_{\mu}) = \tilde{f}_{\mu}$ , so  $\tilde{f}_{\mu} = \tilde{f}_{\mu} \odot \chi_S(\tilde{f}_{\mu}) \odot \tilde{f}_{\mu}$  for every hybrid bi-ideal  $\tilde{f}_{\mu}$  of S. Let  $a \in S$ . Then by Theorem 3.2,  $\chi_{B(a)}(\tilde{f}_{\mu})$  is a hybrid bi-ideal of S and  $\chi_{B(a)}(\tilde{f}_{\mu}) = \chi_{B(a)}(\tilde{f}_{\lambda}) \odot$ 

7

 $\chi_S(\tilde{f}_{\mu}) \odot \chi_{B(a)}(\tilde{f}_{\mu}) = \chi_{B(a)SB(a)}(\tilde{f}_{\lambda})$  by Lemma 3.11 of [2]. Since  $a \in B(a)$ , we have  $\chi_{B(a)SB(a)}(f)(a) = \chi_{B(a)}(f)(a) = U$  which implies  $a \in B(a)SB(a)$ . Therefore S is regular.  $\square$ 

**Theorem 3.11.** Let S be a semigroup. Then the following conditions are equivalent:

(i) S is regular,

(ii)  $\tilde{f}_{\mu} \cap \tilde{g}_{\lambda} \ll \tilde{f}_{\mu} \odot \tilde{g}_{\lambda}$  for every hybrid bi-ideal  $\tilde{f}_{\mu}$  and every hybrid left ideal  $\tilde{g}_{\lambda}$  of S.

*Proof.* (i)  $\Rightarrow$  (ii) Assume that S is regular and let  $f_{\mu}$  be a hybrid bi-ideal and  $\tilde{g}_{\lambda}$  be a hybrid left ideal of S. Let  $a \in S$ . Then there exists  $x \in S$  such that a = axa. Then

$$(\tilde{f} \circ \tilde{g})(a) = \bigcup_{\substack{a = uv\\ \supseteq \tilde{f}(a) \cap \tilde{g}(xa) \supseteq \tilde{f}(a) \cap \tilde{g}(a) = (\tilde{f} \cap \tilde{g})(a),}$$
  
and  $(\mu \circ \lambda)(a) = \bigwedge_{\substack{a = uv\\ \le \bigvee}} \bigvee \{\mu(u), \lambda(v)\}$   
 $\leq \bigvee \{\mu(a), \lambda(xa)\} \leq \bigvee \{\mu(a), \lambda(a)\} = (\mu \cap \lambda)(a).$   
Therefore  $\tilde{f}_u \oplus \tilde{q}_\lambda \ll \tilde{f}_u \odot \tilde{q}_\lambda.$ 

Therefore  $f_{\mu} \cap \tilde{g}_{\lambda} \ll f_{\mu} \odot \tilde{g}_{\lambda}$ .  $(ii) \Rightarrow (i)$  Assume that (ii) holds, and let  $\tilde{f}_{\mu}$  be a hybrid right ideal and  $\tilde{g}_{\lambda}$ be a hybrid left ideal of S. Since every hybrid right ideal of S is a hybrid bi-ideal of S, so  $f_{\mu}$  is a bi-ideal of S. Then by assumption, we have  $f_{\mu} \cap \tilde{g}_{\lambda} \ll f_{\mu} \odot \tilde{g}_{\lambda}$ . By Theorem 3.13 and Theorem 3.14 of [2], we can get  $\tilde{f}_{\mu} \odot \tilde{g}_{\lambda} \ll \tilde{f}_{\mu} \cap \tilde{g}_{\lambda}$ . So for any hybrid right ideal  $\tilde{f}_{\mu}$  and hybrid left ideal  $\tilde{g}_{\lambda}$  of S, we have  $\tilde{f}_{\mu} \cap \tilde{g}_{\lambda} = \tilde{f}_{\mu} \odot \tilde{g}_{\lambda}$ .

Let R be a right ideal and L a left ideal of S. Then for any  $a \in R \cap L$ , we have  $\chi_R(\tilde{f}_\mu)(a) \cap \chi_L(\tilde{f}_\mu)(a) = \chi_R(\tilde{f}_\mu)(a) \odot \chi_L(\tilde{f}_\mu)(a)$ . By Lemma 3.11 of [2], we have  $\chi_{R\cap L}(\tilde{f}_{\mu}) = \chi_{RL}(\tilde{f}_{\mu})$ . Since  $a \in R \cap L$  and  $\chi_{R\cap L}(\tilde{f})(a) = U$ , we have  $\chi_{RL}(\tilde{f})(a) = U$  which implies  $a \in RL$ . Thus  $R \cap L \subseteq RL \subseteq R \cap L$  and hence  $R \cap L = RL$ . Therefore S is regular. 

**Theorem 3.12.** Let S be a semigroup. Then the following conditions are equivalent:

(i) S is regular,

(ii)  $\tilde{f}_{\mu} \cap \tilde{g}_{\lambda} \ll \tilde{g}_{\lambda} \odot \tilde{f}_{\mu}$  for every hybrid bi-ideal  $\tilde{f}_{\mu}$  and every hybrid right ideal  $\tilde{g}_{\lambda}$  of S.

*Proof.* The proof is similar to that of Theorem 3.11.

**Theorem 3.13.** Let S be a semigroup. Then the following conditions are equivalent:

(i) S is regular,

(ii)  $f_{\mu} \cap \tilde{g}_{\lambda} \cap \tilde{h}_{\nu} \ll \tilde{f}_{\mu} \odot \tilde{g}_{\lambda} \odot \tilde{h}_{\nu}$  for every hybrid right ideal  $\tilde{f}_{\mu}$ , hybrid bi-ideal  $\tilde{g}_{\lambda}$  and every hybrid left ideal of  $h_{\nu}$  of S.

*Proof.*  $(i) \Rightarrow (ii)$  Let S be a regular semigroup,  $\tilde{f}_{\mu}$  a hybrid right ideal,  $\tilde{g}_{\lambda}$  a hybrid bi-ideal and  $\tilde{h}_{\nu}$  a hybrid left ideal of S. Let  $a \in S$ . Then there exists  $x \in S$  such that a = axa.

Now 
$$(\tilde{f} \circ \tilde{g} \circ \tilde{h})(a) = \bigcup_{a=uv} \{\tilde{f}(u) \cap (\tilde{g} \circ \tilde{h})(v)\}$$
  
 $\supseteq \tilde{f}(ax) \cap \{\bigcup_{a=pq} \{\tilde{g}(p) \cap \tilde{h}(q)\}\}$   
 $\supseteq \tilde{f}(ax) \cap \tilde{g}(a) \cap \tilde{h}(xa)$   
 $\supseteq \tilde{f}(a) \cap \tilde{g}(a) \cap \tilde{h}(a) = (\tilde{f} \cap \tilde{g} \cap \tilde{h})(a),$   
and  $(\mu \circ \lambda \circ \nu)(a) = \bigwedge_{a=uv} \bigvee \{\mu(u), (\lambda \circ \nu)(v)\}$   
 $\leq \bigvee \{\mu(ax), \bigwedge_{a=pq} \bigvee \{(\lambda(p), \nu(q))\}\}$   
 $\leq \bigvee \{\mu(ax), \lambda(a), \nu(xa)\}$   
 $\leq \bigvee \{\mu(ax), \lambda(a), \nu(a)\} = (\mu \cap \lambda \cap \nu)(a).$   
Therefore  $\tilde{f}_{\mu} \cap \tilde{g}_{\lambda} \cap \tilde{h}_{\nu} \ll \tilde{f}_{\mu} \odot \tilde{g}_{\lambda} \odot \tilde{h}_{\nu}.$ 

 $(ii) \Rightarrow (i)$  Assume that (ii) holds, and let  $\tilde{f}_{\mu}$  be a hybrid right ideal and  $\tilde{h}_{\nu}$ a hybrid left ideal of S. Then  $\tilde{f}_{\mu} \cap \tilde{h}_{\nu} = \tilde{f}_{\mu} \cap \chi_{S}(\tilde{g}_{\lambda}) \cap \tilde{h}_{\nu} \ll \tilde{f}_{\mu} \odot \chi_{S}(\tilde{g}_{\lambda}) \odot \tilde{h}_{\nu} \ll \tilde{f}_{\mu} \odot \tilde{h}_{\nu}$ .

By Theorem 3.13 and Theorem 3.14 of [2], we can get  $\tilde{f}_{\mu} \odot \tilde{h}_{\nu} \ll \tilde{f}_{\mu} \cap \tilde{h}_{\nu}$ . So for any hybrid right ideal  $\tilde{f}_{\mu}$  and hybrid left ideal  $\tilde{h}_{\nu}$  of S, we have  $\tilde{f}_{\mu} \cap \tilde{h}_{\nu} = \tilde{f}_{\mu} \odot \tilde{h}_{\nu}$ .

Let R be a right ideal and L be a left ideal of S and  $a \in R \cap L$ . Then  $\chi_R(\tilde{f}_{\mu})(a) \cong \chi_L(\tilde{f}_{\mu})(a) = \chi_R(\tilde{f}_{\mu})(a) \odot \chi_L(\tilde{f}_{\mu})(a)$ . By Lemma 3.11 of [2], we have  $\chi_{R\cap L}(\tilde{f}_{\mu}) = \chi_{RL}(\tilde{f}_{\mu})$ . Since  $a \in R \cap L$  and  $\chi_{R\cap L}(\tilde{f})(a) = U$ , we have  $\chi_{RL}(\tilde{f})(a) = U$  which implies  $a \in RL$ . Thus  $R \cap L \subseteq RL \subseteq R \cap L$  and hence  $R \cap L = RL$ . Therefore S is regular.

#### Acknowledgments

The authors extend their gratitude to the referee for his/her efforts in reviewing the article.

### References

- U. Acar, F. Koyuncu, B. Tanay, Soft Sets and Soft Rings, Comput. Math. Appl., 59, (2010), 3458 - 3463.
- S. Anis, M. Khan, Y. B. Jun, Hybrid Ideals in Semigroups, Cogent Mathematics, 4, 1352117, (2017).
- F. Feng, Y. Li, Soft Subsets and Soft Product Operations, Information Sciences, 232, (2013), 44-57.
- J. Zhan, M. I. Ali, N. Mehmood, On a Novel Uncertain Soft Set Model: Z-soft Fuzzy Rough Set Model and Corresponding Decision Making Methods, *Appl. Soft Comput.*, 56, (2017), 446-457.
- N. Kehayopulu, M. Tsingelis, Fuzzy Bi-ideals in Ordered Semigroups, *Inform. Sci*, 171, (2005), 13-28.
- N. Kuroki, On fuzzy ideals and fuzzy bi-ideals in semigroups, *Fuzzy Sets and Systems*, 5, (1981), 203-215.

- 7. N. Kuroki, On Fuzzy Semigroups, Inform. Sci., 53, (1991), 203-236.
- D. Molodtsov, Soft Set Theory-First Results, Computers and Mathematics with Applications, 37, (1999), 19-31.
- 9. A. Rosenfeld, Fuzzy Groups, J. Math. Anal. Appl., 35, (1971), 512-517.
- 10. L. A. Zadeh, Fuzzy Sets, Information and Control, 8, (1965), 338-353.

10